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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú, 2015 

¸˝√√±˚˛fl¡ ¬Û±Í¬Sê˜ ( Subsidiary ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
õ∂Ô˜ ¬ÛS ( S-I, SZO-I: ZOOLOGY-I ) 

¸˜˚̨ – øÓ¬Ú√√ ‚KI◊±¬ Û”Ì«̃ ±Ú – 100 

Time : 3 hours Full Marks : 100 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 
¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 20 × 2 = 40 

 [fl¡]  (i)  Œõ∂±ÀÈ¬±ÀÊ√±˚˛± ¬õ∂±ÌœÀ√¬ı˛ ∆¬ıø˙©Ü… ø˘‡≈Úº ∆¬ıø˙©Ü… 
› Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¬Û¬ı« ¬Û˚«ôL Œõ∂±ÀÈ¬±ÀÊ√±˚˛±¬ı˛ 
Œ|Ìœø¬ıÚ…±¸ fl¡èÚº 2 + 6 + 2 

  (ii) ¬’…±ø•£¬ø¬ı˚˛± Œ|Ìœ¬ı˛ ∆¬ıø˙©Ü… ø˘‡≈Úº 
’…±ø•£¬ø¬ı˚˛± Œ|Ìœ¬ı˛ Ê√œø¬ıÓ¬ õ∂±Ìœ&ø˘¬ı˛ ∆¬ıø˙©Ü… 
› Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¬ı·« ¬Û˚«ôL Œ|Ìœø¬ıÚ…±¸ fl¡èÚº  

    2 + 6 + 2 

 [‡¡]  (i)  ¬ı…±˘±ÀÚ±¢≠¸±À¸¬ı˛ ·˘ø¬ıÀ˘¬ı˛ ¸ø‰¬S ¬ıÌ«Ú± ø√Úº  

     6 + 4 

  (ii)  fl¡ÚÊ≈√À·˙Ú fl¡±Àfl¡ ¬ıÀ˘ ∑ ’±¬ÛÚ±¬ı˛ Ê√±Ú± ¤fl¡øÈ¬ 

Œõ∂±ÀÈ¬±ÀÊ√±˚˛± õ∂±Ìœ¬ı˛ fl¡ÚÊ≈√À·˙Ú õ∂øSê˚˛±¬ı˛ ¬ıÌ«Ú± 

ø√Úº 2 + 8  

 [·¡] (i)  ¬Û±˚˛¬ı˛±¬ı˛ ‡±√… ¬Ûø¬ı˛¬Û±fl¡ Ó¬ÀLa¬ı˛ ¸ø‰¬S ¬ıÌ«Ú± ø√Úº 

     6 + 4 

  (ii)  ¬’…±Ç±˝◊√√À˘±Àà±˜± ˜±Ú¬ıÀ√À √̋√ øfl¡ Œ¬ı˛±· ¸‘ø©Ü     

fl¡À¬ı˛ ∑ ¤ ◊̋√√ Œ¬ı˛±À·¬ı˛ ˘é¬Ì&ø˘ øfl¡ ∑ ¤ ◊̋√√ 

¬Û¬ı˛Ê√œ¬ıœøÈ¬¬ı˛ Ê√œ¬ıÚ‰¬ÀSê¬ı˛ √̇ ±&ø˘¬ ¬ıÌ«Ú± fl¡èÚº   

     1 + 2 + 7  

 [‚¡] (i)  ’…±øKI◊¬ıøÎ¬ fl¡±Àfl¡ ¬ıÀ˘ ∑ ’…±øKI◊¬ıøÎ¬¬ı˛ ¸±Ò±¬ı˛Ì 

·Í¬Ú › &èQ ¬ıÌ«Ú± fl¡èÚº 2 + 5 + 3 

  (ii)  ¬’…±¢≠≈øÈ¬ÀÚ˙Ú ø¬ıøSê˚˛±øÈ¬ ’±À˘±‰¬Ú± fl¡èÚº 

’¬ÛÀ¸±Ú√±˝◊√√ÀÊ√̇ Ú õ∂øSê˚˛±øÈ¬¬ı˛ ¬ıÌ«Ú± ø√Úº   6 + 4  
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2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 12 × 3 = 36 

 [fl¡¡]  Œfl“¡À‰¬±¬ı˛ ¤fl¡øÈ¬ Œ¸õI◊±˘ ŒÚøÙË¬øÎ¬˚˛±¬ı˛ ø‰¬ø˝êÓ¬ ø‰¬S 
’±“fl≈¡Úº ¤À√¬ı˛ Œ¬ı˛‰¬Ú ¬ÛXøÓ¬ ¬ıÌ«Ú± fl¡èÚº 

   [ 5 + 3] + 4    

 [‡¡]  ¸±˝◊√√fl¡Ú ¶ÛÀ?¬ı˛ Ú±ø˘fl¡±Ó¬ÀLa¬ı˛ ¸ø‰¬S ¬ıÌ«Ú± ø√Ú º 
Ú±ø˘fl¡±Ó¬ÀLa¬ı˛ fl¡±Ê√&ø˘ ø˘‡≈Úº  [ 4 + 4] + 4  

 [·¡]  Œ¬Û±È¬±«˘ ø˙¬ı˛± fl¡±Àfl¡ ¬ıÀ˘ ∑ fl≈¡ÀÚ± ¬ı…±À„√√¬ı˛ Œ √̋√¬Û±øÈ¬fl¡ 
Œ¬Û±È«¬±˘ ø¸Àà˜-¤¬ı˛ ¸ø‰¬S ¬ıÌ«Ú± ø√Úº 2  + 7 + 3     

 [‚¡]  ¬ı…±˘±ÀÚ±¢≠¸±À¸¬ı˛ ˘±ˆ¬±«√̇ ±¬ı˛ ¸ø‰¬S ¬Ûø¬ı˛‰¬˚˛ ø√Úº ¤ ◊̋√√ 

˘±ˆ¬±«¬ı˛ ¬ı˛+¬Û±ôL¬ı˛ ¬ıÌ«Ú± fl¡èÚº [ 4 + 4] + 4  

 [„√√¡]  ø‰¬S¸˝√√ Œ˜è√Gœ õ∂±ÌœÀ√¬ı˛ ˜øô¶À©®¬ı˛ Sê˜ø¬ı¬ıÓ«¬ÀÚ¬ı˛ 

¤fl¡øÈ¬ ¸—øé¬5 ¬ı˛+¬ÛÀ¬ı‡̨± ¬ıÌ«Ú± fl¡èÚº 8 + 4  

 [‰¬√√¡]  ¤fl¡øÈ¬ ’±√̇ « ô¶Ú…¬Û±˚œ̨ õ∂±Ìœ¬ı˛ √̋√+»¬ÛÀG¬ı˛ ’ôL·«Í¬Ú ¤¬ı—

¤¬ı˛ ˜Ò… ø√À˚̨ ¬ı˛Mê√ õ∂¬ı±À˝√√¬ı˛ õ∂øSê˚˛±øÈ¬ ¬ıÌ«Ú± fl¡èÚº 

   [ 4 + 4] + 4    

3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛√øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 4 = 24      

 [fl¡] ¬ıË±øÇÀ˚˛±Àà±˜±¬ı˛ ‡±√…¢∂̋ √√Ì › ¬Ûø¬ı˛¬Û±fl¡ øSê˚˛±¬ı˛ 

¬ı˛+¬ÛÀ¬ı‡̨± ø√Ú º 3  + 3   

 [‡] fl¡˝◊√√  › Œõ∂±ÀÈ¬±ÀõI◊¬ı˛±À¸¬ı˛ ’øÓ¬ø¬ı˛Mê√ ù´±¸˚ÀLa¬ı˛ ¸ø‰¬S 

¬ıÌ«Ú± ø√Ú º 3  + 3   

 [·] ¬Û±˚˛¬ı˛±¬ı˛ ¬ı±˚˛≈Ôø˘&ø˘¬ı˛ ¬Ûø¬ı˛‰¬˚˛ ø√Ú ¤¬ı— ¤À√¬ı˛ fl¡±Ê√ 
øfl¡ ¬ı ≈̆Ú º 4  + 2     

 [‚] Œ¬ı˛±˜LöÚfl¡±¬ı˛œ ô¶Ú…¬Û±˚˛œ¬ı˛ ¬Û±fl¡¶ö˘œ õ∂Àfl¡±á¬&ø˘¬ı˛ 
¬ıÌ«Ú± › ˝√√Ê√̃  õ∂øSê˚˛±˚˛ ¤À√¬ı˛ ’¬ı√±ÀÚ¬ı˛ ¬ıÌ«Ú± ø√Úº 

    4 + 2     

 [„√√¡√√] ¤øˆ¬¸ƒ [Ûé¬œ] Œ|Ìœ¬ı˛ Õ¬ıø˙©Ü…&ø˘ ø˘‡≈Ú º 

Œ¬ı˛¬ÛƒøÈ¬ø˘˚˛± Œ|Ìœ¬ı˛ ¸Àe ¤¬ı˛ øfl¡ øfl¡ ∆¬ıø˙©Ü…·Ó¬ 

¬Û±Ô«fl¡… ’±ÀÂ√ ø˘‡≈Úº   2 + 4      

 [‰¬¬] ’±¬ı˛À˙±˘±¬ı˛ √̋√+»ø¬ÛÀG¬ı˛ ¬ıÌ«Ú± ø√Ú ¤¬ı— ¤¬ı˛ 

fl¡±˚«¬ÛXøÓ¬¬ı˛ ¬ıÌ«Ú± ø√Ú º 4 + 2    

 [Â√¬¬] ’…±¸ÀÈ¬ƒø¬ı˛˚˛±À¸¬ı˛ ˘±ˆ¬±« √̇ ±&ø˘¬ı˛ ¬ıÌ«Ú± ø√Úº   4 + 2  

 [Ê√] ¸—øé¬5 È¬œfl¡± ø˘‡≈Ú [ Œ˚ Œfl¡±Ú øÓ¬ÚøÈ¬ ] –  2 × 3 = 6 

  (i)  ˘±„√√-øÙ¬¸ƒ 

  (ii)  T-ø˘˜ƒÀÙ¬±¸±˝◊√√È¬ 

  (iii)  ¬’…±øKI◊¬ıøÎ¬ ’…±øÙ¬øÚøÈ¬ 

  (iv)  ’¬ı·̨…±Ú ’¬ı Œ¬ı±ÀÊ√Ú±¸ 

  (v)  ¬ı˛…±¬ıøÎ¬øÈ¬Ù¬˜« ˘±ˆ¬±« 

  (vi)  ø˝√√À˜±ø¸˘º 
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 ( English Version ) 

1. Answer any two questions  : 20 × 2 = 40 

 (a) (i) Write the characteristics of 

protozoans. Classify protozoans 

with characters and examples up 

to phylum. 2 + 6 + 2 

  (ii) Write the characteristics of 

Amphibia. Classify the living 

amphibians with characters and 

example up to orders. 2 + 6 + 2  

 (b) (i) Describe the pharyngeal region of 

Balanoglossus with diagram. 6 + 4 

  (ii) Define conjugation. Describe the 

conjugation process in any 

protozoan you have studied. 2 + 8 

 (c) (i) Describe the digestive system of 

pigeon with diagram. 6 + 4 

  (ii) What disease develops in human 

due to Ancylostoma infection ? 

What are its symptoms ? Describe 

the life cycle stages of this 

parasite. 1 + 2 + 7 

 (d) (i) Define antibody. Describe the 

general structure and significance 

of antibody. 2 + 5 + 3 

  (ii) Describe the agglutination 

reaction and illustrate the 

opsonization process. 6 + 4 

2. Answer any three questions  : 12 × 3 = 36 

 (a) Draw a septal nephridia with labelling 

in earthworm. Describe their excretory 

system. ( 5 + 3 ) + 4 

 (b) Describe the canal system in sycon 

sponges with diagram. Mention the 

functions of this canal system. 

    ( 4 + 4 ) + 4 

 (c) What are portal vein ? Describe the 

hepatic portal system in toads with 

diagram. 2 + 7 + 3 

 (d) Describe the larval stage of 

Balanoglossus with diagram and its 

metamorphosis. ( 4 + 4 ) + 4 

 (e) Describe in brief, the gradual evolution 

of the brain of vertebrates. 8 + 4  
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 (f) Describe the internal structures of a 

typical mammalian heart and course of 

circulation of blood through it. 

    (4 + 4) + 4 

3. Answer any four questions  : 6 × 4 = 24 

 (a) Describe the food capturing and 

digestive system in Branchiostoma. 

    3 + 3 

 (b) Describe accessory respiratory organs 

in Anabas and Protopterus with 

illustrations. 3 + 3 

 (c) Give idea on the air sacs in pigeon and 

mention their functions. 4 + 2 

 (d) Describe the chambers of the ruminant 

stomach and mention their importance 

in the process of digestion. 4 +  2 

 (e) Write the characteristics of Aves. What 

are its differences in characteristics 

with reptiles ? 3 + 3 

 (f) Describe the heart of cockroach and 

mention its functions. 4 + 2 

 (g) Describe the different larval stages of 

Asterias. 4 + 2 

 (h) Write short notes on any three of the 

following :  2 × 3 = 6 

  (i) Lungfish 

  (ii) T-lymphocyte 

  (iii) Antibody affinity 

  (iv) Organ of Bojanus 

  (v) Rhabditiform larva 

  (vi) Haemocoel.    
    


